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1) What   is   the    y-intercept    of   the   graph   of   ? y x  3 = 7 − 6  
A.          B.                C.                 D.    3

7  − 6 − 2 7
6  

 

2)     Which   expression   is    equivalent    to       ?  2√108  

A.            B.               C.            D.   6  3 √3 2  1 √3 8  1 √5 4  5 √2   
 

3)     Which   function   is    equivalent    to    ? (x) (x )(x )g = 3 − 6 + 6  
A.                      C.     x 083 2 − 1 x 6x 083 2 − 3 − 1   
B.                        D.    x 083 2 + 1 x 6x 083 2 + 3 − 1  

 

4)     Which   ordered   pair   shows   y   as   a   function   of   x?  
 
 
 
 

A.   {(-1,2),(4,7),(5,-1),(6,6),(4,0)}  
 
 
 
 

   B.       {(10,5),(8,4),(4,2),(0,0),(-2,-1)}  
 
 
 
 

   C.      {(7,7),(-3,5),(8,-1),(7,-7),(6,3)}  
 
 

 
 

   D.       {(6,2),(6,-3),(6,0),(6,10),(6,8)}  
 
 
 

 

5)    Which   function   is    equivalent    to      ? x 0xy = 5 2 − 1 + 1  
A.            C.    (x )y = 5 + 1 2 − 4 (x )y = 5 − 4 2 + 1   
B.            D.   (x )y = 5 + 4 2 + 1 (x )y = 5 − 1 2 − 4   

 

6)     What   is   the    solution    to    ? m 7 (m )6 − 5 = 1 − 2 − 1   
 

Answer   :______________.  
 

7)     Which   value   of     is   a    solution    to   this   equation?  x  

0x 7x 301 2 + 8 = 1  
A.         B.           C.           D.    x = .78 x = − .31 .6x = 5 x = 0− 1   

 

8)    What   is   the   value   of     in   the    solution    to   this    system   of  y  
equations    ?                 yx + 5 = 1  
                              x y 72 − 5 = 1   
A.               B.                      C.                   D.    6 1 − 1 − 6  

 

9)     Which   expression   is    equivalent    to    ? a 4a6 2 − 2  
A.                 C.    (4a )6 − 1 a(a 8)6 − 1   
B.                 D.    a(a )6 − 4 (18a )6 − 1  

 

10)    Which   expression   is    equivalent    to      ? 6x )(4x )( − 1 + 5  
A.          C.   4x 6x2 2 + 2 − 5 0x 6x1 2 + 2 − 5   
B.          D.    4x 6x2 2 − 2 + 5 0x 6x1 2 − 2 + 5   

 

11)    What   is   the    y-intercept    of    ? (6)y = 2
1 x  

 

Answer   :______________.  
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12)    Which   expression   is    equivalent    to:  
 

          6a a a 2 − 2 + 5 − 7 − 4 + a2  
 

A.             C.    a a5 2 + 9 − 5 a7 2 + a − 9   
B.             D.    a a2 2 − 9 − 3 a a4 2 − 2 − 3  

 

13)     Which    value   of   x    makes   the   equation  

true ? (5x ) x 2 − 3 − 7 = 8 − 2  
 

A.               B.                  C.                D.   .751 .251 .51 2  
 

14)     What   is   the    positive   solution    to    ? x 6x2 − 9 = 3  
 

Answer   :______________.  
 

15)     An    exponential    function   is   graphed   on   the   grid.  

 
 

Which   function   is   best   represented   by   the   graph?  
A.                C.    (x) (4)f = 2

1 x (x) )f = 4 − ( 2
1 x  

B.                D.    (x) ( )f = 4 2
1 x (x) (2)f = 4 x   

 

 

16)    What   is   the   equation   in    slope-intercept   form    of   the   line   that  

passes   through   the   points   and   ? , )(− 1 4 3, 4)( 2  

A.              C.    xy = 9 + 5 .2xy = 0 + 5  
B.           D.    .2xy = 0 + 9 xy = 5 + 9  

 

17)     The    table    shows   a   linear   relationship   between   x   and   y.  
 

x  -4  0  10  12  

y  8  12  17  18  
 

 

What   is   the    rate   of   change    of   y   with   respect   to   x?  
 

A.               B.               C.              D.    − 2 − 2
1

2
1  2  

 

18)     The   graph   of   a    quadratic   function    is   shown   on   the   grid.  

 
Which   function   is   best   represented   by   this   graph?  
 

A.        C.    (x)f = xx2 + 3 + 6 (x)f = xx2 − 3 + 6   
B.        D.    (x)f = xx2 + 6 + 3 (x)f = xx2 − 6 + 3   
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Answer   Key-2  
 

1  C  

2  B  

3  A  

4  B  

5  D  

6  3  

7  D  

8  C  

9  B  

10  A  

11  0.5  
 
 
 
 
 
 
 

 
Answer   Key-2  

 

12  C  

13  A  

14  12  

15  B  

16  D  

17  C  

18  B  
 


